EAGRAROBREERT — 2 N— ABISH —F

202013148 (A 2EBEEIR

KW C 2 440 45— (xwlw | mEmml - |5 ) o 8
[AE4£] 1% :270,000™  23%&:76,000 M  33%&:43,000 M  43%&:27,000MH . 573&:16,000
B\ BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. e E . - _ R (BHE)
ANPEIECE = R [ B V| o [mhan
L:Zgr T bt =7 —K—F B:wi3sLyy #AR RE
= FTzE :33. —5-4- . — AREF (BHE)
2 2| VZAANFv—F G (19??;) 6543 %08 ! (5:)53) 85 A
RN=VIF14 B:T—FvY =t e
o f KA :33. -3-3- . — SEBe (BEE)
318/10 R vTa—4> o4 56.0 = 1(313)6 3-8-3-2 ) 401 3 (4_721) INHIKIESR
Libh=—trya—4> BrNIHAILY TR ZRET7 7 —L
o4 | RREE 1:33.7 11-11-10-8 | 39.5 | — 8 494 | 1EMARIE (BHE)
4K g3 77 PLILT 56.0 (172) 42) ) T7—2 hETa
R:T—TTr—R BTaANFNLE L e
o . ¢ HNEEIA— :33. ~7-6~ . — Sz (BEHE)
sl7]g|vzLAxvzngb o4 Ine 1(33/;1)8 7-7-6-3 | 40.0 9 zzg? e
RT—oTr—R BiHLI oA HET7— L
N S, = S AR HiZE :33. —4-4— . — BREX (BHE)
N B TR SV 4 4 Asz.ééé 1(13/32)9 4-4-4-6 | 40.3 2 (4_742) NEns
R:7—974—X B:dvlvry—3> (ke
LA it 4 | HIEEEZ 1:34.0 9-8-8-6 |40.1| — 4 445 | HWL=E— (BEHE)
7y 4|\ A-T TN E ’ 56.0 vE) -3) ) 772 hETa
R:7—U 74— H:O-X/NK J=HrTp—L
. . = . 4 _E ALt : -9-9- — SiEEZ (BHE)
8 6| NAFHLF1 R it 4 i 1(.13/42.)1 10-9-9-5 | 40.1 6 ;1_519) T
R:7—9Tr—R BTITRITF Rk K5
. FLEFRER :35. —6-7- . — Bl (BEHE)
ol 1]1|[N17—E o4 1% 1 (385)7 5-6-7-10 | 41.8 10 ;1+329) ;E%E%EF
L84 LINT Ry X BARILIAHY AW 7455
— 5 [fE] B &AL :35. == . — EAM (BEE)
10 7| TLTa—hA4Y i 56.0 1(735&7 rozs 423 ° 24) Eggg;
LW—5—297 B4R ALT R At A
3 B 5 | REEEX 1:37.4 8-10-11-11 [ 43.1 | — 11 460 |BRBEX (BHE)
1118/11| P77/ RFITI A51.0 ®) (-g) |SBR A
ARY w4 —7 BT T Nk FAEEHIS
@ 1 —F—&EBlIEfL
13—7+— 5,7,10,8,1,2,9,11,4,6,3
23 =7= 5,7,10,8,2,1,9,4,6,11,3
BEE 5,7,10,(2,8),9,1,4,6,3,11
43—+— |[5,10,(2,9),6, (4,8),3,7,1,11
[ N3
B O 5 110 714K 2-5 590M & 2-5 2,380 3JEHE 2-5-10 3,290
8 B 5 110 5-10 250M B = 2-5 2,140H K31 5-2-10 11,740M
2 350M 2-10 2,390 B H 5-2 2,470/
10 180

ARICOVWTRDTEEERROODE. TR LI,




